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1. Right Ventricular infarction is represented by which leads:
a.rv3-rv4
b. 11, lll, aVF
c.V3-v4
d. V5 -V6

2. Which of the following are ECG changes in myocardial infarction:
a. ST segment elevation
b. T wave inversion
c. Development of abnormal Q wave
d. All of the above

3. Atrial fibrillation on ECG is:
a. Absence of P-waves and an irregular rhythm
b. Absence of P-waves and regular rhythm
c. Presence of P wave and regular rhythm
d. Presence of P wave and irregular rhythm

4. P wave is best seenin?
a.ll
b. 1l
c. avF
d.v1

5. The positive electrode when recording lead avlL on an EKG is: :
a. Left arm
b. Left leg
c. Right leg
d. Left arm + Left leg

6. The device used to obtain and display ECG is called as:
a. Electrocardiogram
b. Electrocardiograph
c. Electrodes
d. Leads

7. What view of the heart does VI-V4 give?
a. Anterior
b. Posterior
c. Lateral
d. Exterior



8. Lead Ill obtained by connecting and
a. Right arm and left arm
b. Right leg and left leg
c. Right arm and left leg
d. Left arm and left leg

9. The 6 limb leads lie in which plane:
a. Transverse plane
b. Frontal plane
C. Both of these
d. None of these

10. Normal P wave is:
a. Less than 0.25 mV
b. Less than 0.12 secs
c. Precedes QRS complex
d. All of the above

11. In which of these conditions can widen QRS and Tall-tented T waves be observed?
(a) Hyponatremia
(b) Hyperkalemia
(c) Hyperglycemia
(d) Hyperphosphatemia

12. If leads V1 to V6 are imagined to be the spokes of a wheel, then the centre of the wheel is:
a. AV node
b. SA node
c. Left Ventricle
d. His bundle

13. Which amongst the following are right sided leads:
a.avVR-Vv1
b. Il — avF
c. V5-V6
d.v2-v3



14. What is the site for placement of 2 pads in Automated external defibrillator :
a. Directly below right and left collar bone
b. Directly below right collar bone and below right nipple
c. Below right and left nipple
d. Directly below right collar bone and to the side of left nipple

15. ECG report must consist of following information:
a. Rhythm, cardiac axis
b. Conduction interval
c. Description of the ST segments , QRS complexes and T waves
d. All of the above

16. The characteristic of normal sinus rhythm include all of the following except:
a. Rate 60-100 bpm
b. Regular Rhythm
c. Consistent P wave before every QRS complex
d. QRS complex 0.4 - 0.8 sec

17. If there were 3 large squares in an R-R interval what would the heart rate be ?
a. 100 bpm
b. 70 bpm
c. 90 bpm
d. 80 bpm

18. What segment, if elevated or depressed, reveals a sign of serious pathology?
a. ST
b. PR
c.R-R
d.Qr

19. If AED is to be used and victim is in water, what steps are to be done before giving shock:

a. Pull the victim out of water
b. Wipe the water off the chest
c. Don’t use AED in water

d. All of the above

20. Depression of the ST segment depicts, which of the following?

a. Ischemia

b. Hypokalemia

G Myocardial infarction
d. Acute heart attack



21. How many leads are present in standard ECG:
a. 12 leads
b. 7 leads
c. 8 leads
d. 6 leads

22.In a normal person, from V1 to V6 which wave shows gradual increase in amplitude:
a. q Wave
b. P wave
c. Swave
d. R wave

23. Where should you place AED pads on a infant victim:
a. One under left arm pit and one high on the right side of the chest
b. One under the right arm and one high on left side of chest
¢. One under each arm pit
d. One in the centre of the back and one over the centre of chest

24. Which of the following correctly explains a phase/ event in cardiac cycle in a standard
Electrocardiogram?

a. QRS complex indicates atrial contraction.

b. QRS complex indicates ventricular contraction.

c.Time between S and T represents atrial systole.

d. P-wave indicates beginning of ventricular contraction.

25. What view of the heart do leads |, VL, V5 and V6 represent?
A. Inferior
B. Lateral
C. Anterior
D. Septal

26. An electrocardiogram is a graphic illustratign of :
A. Cardiac conduction system
B. Cardiac cycle
C. Cardiac output
D. Systemic and pulmonary circuits



27. Leads |, Il and lll can be represented schematically in terms of a triangle called as:
a. Wintrove's triangle
b. Heathrow’s triangle
c. Virchow’s triangle
d. Einthoven’s triangle

28. What is the standard calibration in an ECG:
a.lmvVv=8mm
b.1mV=6mm
c.lmV=10 mm
d.1mV=12mm

29. . Lead V2 is placed over intercostal space in left sternal margin:
a. 5th
b. 4th
c. 2nd
d. 3rd

30. Normal adult QRS axis lies between:
a.-40 to +90
b.-30to + 120
c. -30 to +90
d.-60 to + 120

31. Defibrillator is used for all of the following except:
a. Delivering shock
b. Rhythm monitoring
c. Pacing
d. Respiration

32. In which lead would you see a BIPHASIC P wave?
a.v2-v3

b. V5-Vé

c. V1

d.v3

33. Lead | records difference in voltage between ___and ___
a. Right arm and left leg
b. Left arm and right arm

. Right arm and Left arm

c
d. Left leg and left arm
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35
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. An axis of -30 degree or more negative is described as:
a. Normal axis
b. Right axis deviation
c. Left axis deviation
d. None of the above

. Which of the following is the origin of normal heartbeat in a person:
a. AV node
b. Right atrium
c. SA node
d. Purkinje fibers

_Lead Il records difference in voltage between ____and _____
a. Right arm and left leg
b. Left arm and right arm
c. Right arm and Left arm
d. Left leg and left arm
. How many small squares are present between two heavy lines on ECG paper:
a.5
b. 4
c.3

d.6

. QRS complex indicates:
a. Atrial contraction
b. Atrial relaxation
c. Ventricular relaxation
d. Ventricular Contraction

. Counting the number of QRS Complexes, which of the following can be interpreted?

a. Heart rate

b. Cardiac output
c. Stroke volume
d. Breathing rate

. Which of the following are Bipolar leads:
a.aVR ,aVLand aVF
b.V1,V2and V3
c.l,Iland Il
d. Vv4, V5 and V6



41. Horizontally, each unit represents how many seconds:
a. 0.04 sec
b. 0.05 sec
c. 0.06 sec
d. 0.03 sec

42. In normal ECG the paper speed is 25 mm/sec, which other speed can be used for ECG under special
circumstances:

a. 50 mm/sec

b. 25 mm/sec

c. 50 mm/ min

d. 25 mm/min

43. What is the name of machine used for recording continuous ECG in an ambulatory patient:
a. Defibrillator
b. Holter
c. Ambulatory BP monitor
d. None of the above.

44. P wave represents which of the following:
a. Atrial contraction
b. Atrial relaxation
c¢. Ventricular contraction
d. Ventricular Relaxation

45. T Wave in an ECG represents:
a. Atrial diastole
b. Atrial systole
c. Ventricular diastole
d. Joint diastole

46. In a normal individual, the heart rate can be determined by the in an ECG
a. Interval between two QRS complexes
b Number of P waves
c. Interval between the P and T waves
d Number of T waves



47. Disturbance in cardiac rhythm is called as:
a. Arrhythmia
b. Seizure
c. Syncope
d. Tachycardia

48. Which of the following represent Inferior leads:
a.Vvl,v2andV3
b. V4, V5 and V6
c. I, 111, and aVF
d.l,aVLand V6

49. How will you identify limb lead reversal right and left arm on ECG:
a. Negative P wave with negative QRS complexin lead 1
b. Negative P wave with normal QRS complex in lead 1
c. Positive P wave with negative QRS complex in lead 1
d. None of the above

50. Hypokalemia is the condition of low potassium levels in your blood. Hypokalemia ECG changes are :
a.ST segment elevation
b. U wave (a position deflection after the T wave)
c. Tall peaked T waves
d. Widening of the QRS complex and increased amplitude
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1 A 26 A
2 D 27 D
3 A 28 C
4 A 29 B
5 A 30 C
6 A 31 D
7 A 32 C
8 D 33 C
9 B 34 C
10 D 35 C
11 B 36 A
12 A 37 A
13 A 38 D
14 D 39 A
15 D 40 C
16 D 41 A
17 A 42 A
18 A 43 B
19 D 44 A
20 A 45 C
21 A 46 A
22 D 47 A
23 D 48 C
24 B 49 A
25 B 50 B




